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In any A ABC, the following relationship holds :

m, wn3 /my, w3 /m. w, 3.2%.r¢
30 NI NESE N 1.
wp, h, h,, w, h, 3(9R3 — 64r3)2 — 128r

Proposed by Zaza Mzhavanadze-Georgia

Solution by Soumava Chakraborty-Kolkata-India

m, w.3 m, Ww m. w,\3A-G
(_a+_C> +<_b+_a) _|_(_c+_b) >
Wy ha hb W, hc

A-G
3 (M ) (Mo | Wa (e, W) 0 3_8_jm We My Wo Me Wy o

Wy ha hb hC Wy h W hb W, h -

; 3.2%.r6
~ 3(9R3 — 64r3)2 — 128r°

? Euler m, Ww, my, 3 m, w, 3
©R*>8r®->truevR > 2r- (w + ) +(_+_) +(_+h_)
b c

& (9R3 — 641r3)? > 641r° © 9R3 — 6413 > 8r3

ha hb Wq

3.2%.r
v A ABC,” =" iff A ABC is equilateral (QED)

>
~ 3(9R3 — 64r3)% — 128r°




